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NS: =)tk 5REERGHO) 2 5 NS: ZBigs] FBIIH(BAC) -28 VP:| 15.46 : 4.54 Total VP: 95.80 Rank:
EW: $8{—5¢ MEsEEAC) 28 EW: BIE#E RERZ(BAO) -2 IMP:} 29 : 8 3
» AT954 4HWS5 -450 Mean: 3HW5 200 50 1 |[#2 9 4HN5 650 Mean: 4HN5 650 10.0 2
v 987 4HWS5 -450 -400  4HW5 450 20 5 v AQ8763 6HN-2 -200 220 3NN5 660 10.0 1
¢+ J5 Dif: 0 NS:-2 + AQ32 Dif: 850 NS:10 6HN-2 200 9.0 3
» K98 IMP: 0 EW:2 & A5 IMP: 13 EW:9
# 8763 s QT & KJ65
v4 v JT54 I v2
+ AQ87 . J7 ¢ T964
& T542 &» KJ973 & T864
aJ2 % ¢V AN o A87432
v K N ~5532 K9
+ KT962 S ~5545 ¢ K85
» QJ763 E ~~~~~ « Q2
w ~~~~~
» JT7 4HS4 420 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4SXS-1-200 Mean: 4SS5 650 7.0 1
v KT753 4HS5 450 450  4HS5 450 00 3 v AQT8 4SS-1-100 340 4SS4 620 7.0 2
*5 Dif: -30 NS:-1  4HN5 450 0.0 1 + Q8732 Dif: -100 NS:-11 5HXE-2 500 4.0 1
& AQ94 IMP: -1 EW:0 4HS4 420 1.0 1 &3 IMP: -3 EW:10 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 + A65 + KJ9
a J765 a 9762 » AKQJ
& AQ5 % ¢ VAN 4 AK98765
v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
o A9432 4HES5 -450 Mean: 4HES5 450 00 4 ||#6 s 97 4HW4 -620 Mean: 3NE-2 200 120 1
v Q7 4HEG6 -480 -460 4HE6 480 1.0 2 v T754 4SE4 -620 -480 4SE4 620 -40 4
+ 64 Dif: 30 Ns:0 ¢ 93 Dif: 0 NS:-4 4HW4 620 -40 1
» 8654 IMP: 1 EW:1 & KQJ43 IMP: 0 EW:4
# J765 AK » QT6542
v KJT4 v Q9862 v AJ
*T7 * KJT42 + Q65
» QJT ~ A7
s QT8 o ¢VABN 4 J83
v 952 N ~~~~~ v K3
+ KQ82 S ~~~~~ + A87
& 932 E ~6 342 & T9865
W ~5342
» 853 4CN5 150 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NS4 180 Mean: 2NN4 180 00 1
v KJ4 4DS6 170 190  4DS6 170 1.0 2 v AKT7 2NN4 180 170  1NS4 180 00 3
¢ AJ3 Dif: -20 NS:-1  4DS5 150 1.0 1 ¢ T98 Dif: 0 NS:0 1NN4 180 00 1
& AKQ8 IMP: -1 EW:1 4CN5 150 1.0 1 & Q2 IMP: 0 EW:0 1SN3 140 1.0 1
& AKQT964 4HS-1 100 -7.0 1 & 52 » K873
+ v 92 v Q984 v 653
¢ Q ¢ A542 ¢+ Q3
S » 965 » 763 » AKT4
Py ¢VAN 4, AT6
v T865 N ~3~33 »J2
+ KT9765 S ~3~34 ¢ KJ76
& 732 E ~~~~~ & J985
W ~~~ ~ ~
o KT9832 3NXW-1200 Mean: 3NXW-1 200 40 1 ||# 10 s J7 1NN1 90 Mean: 3HW-4 400 6.0 1
v AQJ 3NW-1100 50  2SN3 140 3.0 1 v A9 3HW-1100 150  3CN3 110 1.0 1
¢ 652 Dif: 100 NS:4 4CE-1 100 20 1 * QJT73 Dif: -10 NS:-2 2CN4 130 1.0 1
»4 IMP: 3 EW:-2 3NW-1 100 20 1 & AQT5 IMP: 0 EW:2 3HW-1 100 20 1
s 74 3CE3 110 -40 2 Q3 » A654 2HW-1 100 20 1
v KT v JT875 _I_ v K62 1NN1 90 20 1
* AJ9 * A98 + K654
& AKT953 » KJ8 » 74
a4 A6 % ¢V ABN 4 KTI82
v 8632 N 4~~21 »Q43
+ KQ873 S 4~~21 o2
» 87 E ~~1~~ #9632
W ~~1~~
# 65 2HS-1-50 Mean: 2NW-1 50 30 1 ||#12 s A72 1NN4 180 Mean: 1NN4 180 1.0 3
v 975 2NW-150 -50  3HS-1 50 0.0 1 v Q7 1NN3 150 160  1NS3 150 0.0 1
¢ KJT73 Dif: -100 NS:0 2HS-1 50 0.0 2 + KJ642 Dif: 30 NS:1  1NN3 150 0.0 2
& K43 IMP: -3 EW:-3 2NW2 120 20 1 & KJ9 IMP: 1 EW:0
» KQ82 2HXS-1 100 -20 1 ||s KJ96 A QT
T v KT652 | v J98
+ AQ864 ¢ 98 ¢ AT5
» 875 » 65 » QT742
a A743 oo VAN 48543
v K8632 N ~2~12 v A43
*5 S ~2~12 Q73
& AQ2 E ~~1~~ a&A83
W ~~1~-~
4 642 3CW4 -130 Mean: 3CW3 110 3.0 1 # 14 46 6DW-2 100 Mean: 6DW-2 100 60 1
v K865 3DE4-130 -200 3DE4 430 20 1 v AK753 3NE3 -400 -150 5DW-2 100 60 1
¢ 8763 Dif: 0 NS:2 3Ccwa4 130 20 2 ¢ Q32 Dif: 500 NS:6 4SXW-1 100 60 1
& A3 IMP: 0 EW:-2 1NW2 120 20 1 » 5432 IMP: 11 EW:6 3NE3 400 -6.0 2
N » KQ 3NE3 600 -9.0 1 ||s AQT73 » K2 3NE4 430 7.0 1
v Q93 v QJ v T862
+ + AQJT2 + AK974 + J85
& 752 9 &» AK87
» AT983 % ¢ VAN 4 JO854
v JT2 N ~~~~~ v 94
+ K5 S ~~~~~ + T6
* J96 E ~4~44 & QJT6
W ~4~44
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NS: B BYEIR®(BEO) 0 3 NS: 15[R5E BRe5F(BAC) 11 VP:| 9.67 10.33| Total VP: 91.17 Rank:
EW: Sfas BEHE&UEAC) -11 EW: i#tiRiE FRERE(BAO) 0 IMP:| 24 : 25 4
» AT954 4HWS5 -450 Mean: 3HW5 200 50 1 |[#2 9 6HN-2 -200 Mean: 4HN5 650 10.0 2
v 987 3HWS5 -200 -400 4HW5 450 20 5 v AQ8763 3NN5 660 220 3NN5 660 10.0 1
¢+ J5 Dif: -250 NS:-2 + AQ32 Dif: -860 NS:-9 6HN-2 200 9.0 3
» K98 IMP: -6 EW:-5 & A5 IMP: -13 EW:-10
# 8763 s QT & KJ65
vi4 v JT54 I v2
+ AQ87 . J7 ¢ T964
& T542 &» KJ973 & T864
aJ2 % ¢V AN o A87432
v K N ~5532 K9
+ KT962 S ~5545 ¢ K85
» QJ763 E ~~~~~ « Q2
w ~~~~~
» JT7 4HN5 450 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4SS5 650 Mean: 4SS5 650 7.0 1
v KT753 4HS5 450 450  4HS5 450 00 3 v AQT8 5HXE-2 500 340  4SS4 620 7.0 2
*5 Dif: 0 NS:0 4HN5 450 0.0 1 + Q8732 Dif: 150 NS:7 5HXE-2 500 4.0 1
& AQ94 IMP: 0 EW:0 4HS4 420 1.0 1 &3 IMP: 4 EW:-4 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 + A65 + KJ9
a J765 a 9762 » AKQJ
& AQ5 ¢ VAN 4, AKI8765
v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
o A9432 4HES5 -450 Mean: 4HES5 450 00 4 ||#6 s 97 4SE4 -620 Mean: 3NE-2 200 120 1
v Q7 4HES5 -450 -460  4HE6 480 1.0 2 v T754 4SE4 -620 -480 4SE4 620 -40 4
+ 64 Dif: 0 NS:0 ¢ 93 Dif: 0 NS:-4 4HW4 620 -40 1
» 8654 IMP: 0 EW:0 & KQJ43 IMP: 0 EW:4
# J765 AK » QT6542
v KJT4 v Q9862 v AJ
*T7 * KJT42 + Q65
» QJT ~ A7
s QT8 o ¢VABN 4 J83
v 952 N ~~~~~ v K3
+ KQ82 S ~~~~~ + A87
& 932 E ~6 342 & T9865
W ~5342
» 853 5DS5 600 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NS4 180 Mean: 2NN4 180 00 1
v KJ4 4DS6 170 190  4DS6 170 1.0 2 v AKT7 1NS4 180 170  1NS4 180 00 3
¢ AJ3 Dif: 430 NS:9 4DS5 150 1.0 1 ¢ T98 Dif: 0 NS:0 1NN4 180 00 1
& AKQ8 IMP: 10 EW:1 4CN5 150 1.0 1 & Q2 IMP: 0 EW:0 1SN3 140 1.0 1
& AKQT964 4HS-1 100 -7.0 1 & 52 » K873
+ v 92 v Q984 v 653
¢ Q ¢ A542 ¢+ Q3
S » 965 » 763 » AKT4
Py ¢VAN 4, AT6
v T865 N ~3~33 »J2
+ KT9765 S ~3~34 ¢ KJ76
& 732 E ~~~~~ & J985
W ~~~ ~ ~
o KT9832 3CE3 -110 Mean: 3NXW-1 200 40 1 ||# 10 s J7 3HW-4 400 Mean: 3HW-4 400 6.0 1
v AQJ 2SN3140 50  2SN3 140 3.0 1 v A9 2CN4 130 150  3CN3 110 1.0 1
¢ 652 Dif: -250 NS:-4 4CE-1 100 20 1 * QJT73 Dif: 270 NS:6 2CN4 130 1.0 1
»4 IMP: -6 EW:-3 3NW-1 100 20 1 & AQT5 IMP: 7 EW:1  3HW-1 100 20 1
s 74 3CE3 110 -40 2 Q3 » A654 2HW-1 100 20 1
v KT v JT875 _I_ v K62 1NN1 90 20 1
* AJ9 * A98 + K654
& AKT953 » KJ8 » 74
a4 A6 % ¢V ABN 4 KTI82
v 8632 N 4~~21 »Q43
+ KQ873 S 4~~21 o2
» 87 E ~~1~~ #9632
W ~~1~~
# 65 2HS-1-50 Mean: 2NW-1 50 30 1 ||#12 s A72 1NN4 180 Mean: 1NN4 180 1.0 3
v 975 2HXS-1-100 -50  3HS-1 50 0.0 1 v Q7 1NN4 180 160  1NS3 150 0.0 1
¢ KJT73 Dif: 50 NS:0 2HS-1 50 0.0 2 + KJ642 Dif: 0 NS:1 1NN3 150 0.0 2
& K43 IMP: 2 EW:2 2NW2 120 20 1 & KJ9 IMP: 0 EW:-1
» KQ82 2HXS-1 100 -20 1 ||s KJ96 A QT
T v KT652 | v J98
+ AQ864 ¢ 98 ¢ AT5
» 875 » 65 » QT742
a A743 oo VAN 48543
v K8632 N ~2~12 v A43
*5 S ~2~12 Q73
& AQ2 E ~~1~~ a&A83
W ~~1~-~
4 642 1NW2 -120 Mean: 3CW3 110 3.0 1 # 14 46 3NE3 -400 Mean: 6DW-2 100 60 1
v K865 3CW3-110 -200 3DE4 430 20 1 v AK753 3NE4 -430 -150 5DW-2 100 60 1
¢ 8763 Dif: -10 NS:2 3Cw4 130 20 2 ¢ Q32 Dif: 30 NS:-6 4SXW-1 100 60 1
& A3 IMP: 0 EW:-3 1NW2 120 20 1 » 5432 IMP: 1 EW:7 3NE3 400 -6.0 2
N » KQ 3NE3 600 -9.0 1 ||s AQT73 » K2 3NE4 430 7.0 1
v Q93 v QJ v T862
+ + AQJT2 + AK974 + J85
& 752 9 &» AK87
» AT983 % ¢ VAN 4 JO854
v JT2 N ~~~~~ v 94
+ K5 S ~~~~~ + T6
* J96 E ~4~44 & QJT6
W ~4~44
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NS: #BIGE FREEFEEC) 11 2 NS: BRE# BREI5(FH0) 0 VP:| 10.33 : 9.67 Total VP: 107.97 Rank:
EW: iR BEEBEEIO) 0 EW: 21558 B AY(BAC) 1 IMP:| 25 : 24 1
e ——————————— T
» AT954 4HWS5 450 Mean: 3HW5 200 50 1 |[#2 9 6HN-2 200 Mean: 4HN5 650 10.0 2
v 987 3HW5 200 -400 4HW5 450 20 5 v AQ8763 3NN5-660 220 3NN5 660 10.0 1
¢+ J5 Dif: 250 NS:5 + AQ32 Dif: 860 NS:10 6HN-2 200 9.0 3
» K98 IMP: 6 EW:2 & A5 IMP: 13 EW:9
# 8763 s QT & KJ65
vi4 v JT54 I v2
+ AQ87 . J7 ¢ T964
& T542 &» KJ973 & T864
aJ2 % ¢V AN o A87432
v K N ~5532 K9
+ KT962 S ~5545 ¢ K85
» QJ763 E ~~~~~ « Q2
w ~~~~~
» JT7 4HN5 -450 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4SS5 -650 Mean: 4SS5 650 7.0 1
v KT753 4HS5 -450 450  4HS5 450 00 3 v AQTS8 5HXE-2 -500 340  4SS4 620 7.0 2
*5 Dif: 0 NS:0 4HN5 450 0.0 1 + Q8732 Dif: -150 NS:4 5HXE-2 500 4.0 1
& AQ94 IMP: 0 EW:0 4HS4 420 1.0 1 &3 IMP: -4 EW:-7 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 + A65 + KJ9
a J765 a 9762 » AKQJ
& AQ5 ¢ VAN 4, AKI8765
v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
o A9432 4HES5 450 Mean: 4HE5 450 00 4 ||#6 s 97 4SE4 620 Mean: 3NE-2 200 120 1
v Q7 4HE5 450 -460  4HE6 480 1.0 2 v T754 4SE4 620 -480 4SE4 620 -40 4
+ 64 Dif: 0 NS:0 ¢ 93 Dif: 0 NS:-4 4HW4 620 -40 1
» 8654 IMP: 0 EW:0 & KQJ43 IMP: 0 EW:4
# J765 AK » QT6542
v KJT4 v Q9862 v AJ
*T7 * KJT42 + Q65
» QJT ~ A7
s QT8 o ¢VABN 4 J83
v 952 N ~~~~~ v K3
+ KQ82 S ~~~~~ + A87
& 932 E ~6 342 & T9865
W ~5342
» 853 5DS5 -600 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NS4 -180 Mean: 2NN4 180 00 1
v KJ4 4DS6 -170 190  4DS6 170 1.0 2 v AKT7 1NS4 -180 170  1NS4 180 00 3
¢ AJ3 Dif: -430 NS:-1 4DS5 150 1.0 1 ¢ T98 Dif: 0 NS:0 1NN4 180 00 1
& AKQ8 IMP: -10 EW:-9 4CN5 150 1.0 1 & Q2 IMP: 0 EW:0 1SN3 140 1.0 1
& AKQT964 4HS-1 100 -7.0 1 & 52 » K873
+ v 92 v Q984 v 653
¢ Q ¢ A542 ¢+ Q3
S » 965 » 763 » AKT4
Py ¢VAN 4, AT6
v T865 N ~3~33 »J2
+ KT9765 S ~3~34 ¢ KJ76
& 732 E ~~~~~ & J985
W ~~~~ ~
o KT9832 3CE3 110 Mean: 3NXW-1 200 40 1 [|# 10 s J7 3HW-4 -400 Mean: 3HW-4 400 6.0 1
v AQJ 2SN3 -140 50  2SN3 140 3.0 1 v A9 2CN4 -130 150  3CN3 110 1.0 1
¢ 652 Dif: 250 NS:3 4CE-1 100 20 1 * QJT73 Dif: -270 NS:-1 2CN4 130 1.0 1
»4 IMP: 6 EW:4 3NW-1 100 20 1 & AQT5 IMP: -7 EW:-6 3HW-1 100 20 1
s 74 3CE3 110 -40 2 Q3 » A654 2HW-1 100 20 1
v KT v JT875 _I_ v K62 1NN1 90 20 1
* AJ9 * A98 + K654
& AKT953 » KJ8 » 74
a4 A6 % ¢V ABN 4 KTI82
v 8632 N 4~~21 »Q43
+ KQ873 S 4~~21 o2
» 87 E ~~1~~ #9632
W ~~1~~
# 65 2HS-1 50 Mean: 2NW-1 50 30 1 ||#12 s A72 1NN4 -180 Mean: 1NN4 180 1.0 3
v 975 2HXS-1100 -50  3HS-1 50 0.0 1 v Q7 1NN4 -180 160  1NS3 150 0.0 1
¢ KJT73 Dif: -50 NS:-2 2HS-1 50 0.0 2 + KJ642 Dif: 0 NS:1 1NN3 150 0.0 2
& K43 IMP: -2 EW:0 2NW2 120 20 1 & KJ9 IMP: 0 EW:-1
» KQ82 2HXS-1 100 -20 1 ||s KJ96 A QT
T v KT652 | v J98
+ AQ864 ¢ 98 ¢ AT5
» 875 » 65 » QT742
a A743 oo VAN 48543
v K8632 N ~2~12 v A43
*5 S ~2~12 ¢Q73
& AQ2 E ~~1~~ a&A83
W ~~1~-~
# 642 1NW2 120 Mean: 3CW3 110 3.0 1 ||# 14 46 3NE3 400 Mean: 6DW-2 100 6.0 1
v K865 3CW3 110 -200 3DE4 430 20 1 v AK753 3NE4 430 -150 5DW-2 100 60 1
¢ 8763 Dif: 10 NS:3 3Cwa4 130 20 2 ¢ Q32 Dif: -30 NS:-7  4SXW-1 100 60 1
& A3 IMP: 0 EW:-2 1NW2 120 20 1 » 5432 IMP: -1 EW:6 3NE3 400 -6.0 2
N » KQ 3NE3 600 -9.0 1 ||s AQT73 » K2 3NE4 430 7.0 1
v Q93 v QJ v T862
+ + AQJT2 + AK974 + J85
& 752 9 &» AK87
» AT983 % ¢ VAN 4 JO854
v JT2 N ~~~~~ v 94
+ K5 S ~~~~~ + T6
* J96 E ~4~44 & QJT6
W ~4~44
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NS: ZAF AR RHERGHO) -17 6 NS: fi% Z5E(FC) 25 VP:| 2.37 17.63 | Total VP: 82.06 Rank:
EW: =& BEZEEAC) -25 EW: ARG 1228 (BO) 17 IMP:| 9 ;43 5
» AT954 4HWS5 -450 Mean: 3HW5 200 50 1 |[#2 9 6HN-2 -200 Mean: 4HN5 650 10.0 2
v 987 4HWS5 -450 -400  4HW5 450 20 5 v AQ8763 4HN5 650 220  3NN5 660 10.0 1
¢+ J5 Dif: 0 NS:-2 + AQ32 Dif: -850 NS:-9 6HN-2 200 9.0 3
» K98 IMP: 0 EW:2 & A5 IMP: -13 EW:-10
# 8763 s QT & KJ65
vi4 v JT54 I v2
+ AQ87 . J7 ¢ T964
& T542 &» KJ973 & T864
aJ2 % ¢V AN o A87432
v K N ~5532 K9
+ KT962 S ~5545 ¢ K85
» QJ763 E ~~~~~ « Q2
w ~~~~~
» JT7 4HS5 450 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4S5S4 620 Mean: 4SS5 650 7.0 1
v KT753 4HS6 480 450  4HS5 450 00 3 v AQT8 4SS4 620 340  4SS4 620 7.0 2
*5 Dif: -30 NS:0 4HN5 450 0.0 1 ¢ Q8732 Dif: 0 NS:7 5HXE-2 500 4.0 1
& AQ94 IMP: -1 EW:-1 4HS4 420 1.0 1 &3 IMP: 0 EW:-7 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 + A65 + KJ9
a J765 a 9762 » AKQJ
& AQ5 ¢ VAN 4, AKI8765
v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
o A9432 4HES5 -450 Mean: 4HES5 450 00 4 ||#6 s 97 4SE4 -620 Mean: 3NE-2 200 120 1
v Q7 4HEG6 -480 -460 4HE6 480 1.0 2 v T754 3NE-2 200 -480 4SE4 620 -40 4
+ 64 Dif: 30 NS:0 ¢ 93 Dif: -820 NS:-4 4HW4 620 -40 1
» 8654 IMP: 1 EW:1 & KQJ43 IMP: -13 EW:-12
# J765 AK » QT6542
v KJT4 v Q9862 v AJ
*T7 * KJT42 + Q65
» QJT ~ A7
s QT8 o ¢VABN 4 J83
v 952 N ~~~~~ v K3
+ KQ82 S ~~~~~ + A87
& 932 E ~6 342 & T9865
W ~5342
» 853 4HS-1-100 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NN4 180 Mean: 2NN4 180 00 1
v KJ4 4DS5150 190  4DS6 170 1.0 2 v AKT7 1SN3 140 170  1NS4 180 00 3
¢ AJ3 Dif: -250 NS:-7 4DS5 150 1.0 1 ¢ T98 Dif: 40 NS:0 1NN4 180 00 1
& AKQ8 IMP: -6 EW:1 4CN5 150 1.0 1 & Q2 IMP:1 EW:1 1SN3 140 1.0 1
& AKQT964 4HS-1 100 -7.0 1 & 52 » K873
+ v 92 v Q984 v 653
¢ Q ¢ A542 ¢+ Q3
S » 965 » 763 » AKT4
Py ¢VAN 4, AT6
v T865 N ~3~33 »J2
+ KT9765 S ~3~34 ¢ KJ76
& 732 E ~~~~~ & J985
W ~~~~ ~
o KT9832 4CE-1100 Mean: 3NXW-1 200 4.0 1 [|# 10 s J7 3CN3 110 Mean: 3HW-4 400 6.0 1
v AQJ 3CE3-110 50  2SN3 140 3.0 1 v A9 2HW-1100 150  3CN3 110 1.0 1
¢ 652 Dif: 210 NS:2 4CE-1 100 20 1 * QJT73 Dif: 10 NS:-1 2CN4 130 1.0 1
»4 IMP: 5 EW:4 3NW-1 100 20 1 & AQT5 IMP: 0 EW:2 3HW-1 100 20 1
s 74 3CE3 110 -40 2 Q3 » A654 2HW-1 100 20 1
v KT v JT875 _I_ v K62 1NN1 90 20 1
* AJ9 * A98 + K654
& AKT953 » KJ8 » 74
a4 A6 % ¢V ABN 4 KTI82
v 8632 N 4~~21 »Q43
+ KQ873 S 4~~21 o2
» 87 E ~~1~~ #9632
W ~~1~~
# 65 3HS-1-50 Mean: 2NW-1 50 30 1 ||#12 s A72 1NS3 150 Mean: 1NN4 180 1.0 3
v 975 2NW2-120 -50  3HS-1 50 0.0 1 v Q7 1NN3 150 160  1NS3 150 0.0 1
¢ KJT73 Dif: 70 NS:0 2HS-1 50 0.0 2 + KJ642 Dif: 0 NS:0 1NN3 150 0.0 2
& K43 IMP: 2 EW:2 2NW2 120 20 1 & KJ9 IMP: 0 EW:0
» KQ82 2HXS-1 100 -20 1 ||s KJ96 A QT
T v KT652 | v J98
+ AQ864 ¢ 98 ¢ AT5
» 875 » 65 » QT742
a A743 oo VAN 48543
v K8632 N ~2~12 v A43
*5 S ~2~12 ¢Q73
& AQ2 E ~~1~~ a&A83
W ~~1~-~
4 642 3NE3 -600 Mean: 3CW3 110 3.0 1 # 14 46 4SXW-1100 Mean: 6DW-2 100 60 1
v K865 3CW4 -130 200 3DE4 430 20 1 v AK753 5DW-2 100 -150 5DW-2 100 60 1
¢ 8763 Dif: -470 NS:-9 3CW4 130 20 2 ¢ Q32 Dif: 0 NS:6 4SXW-1 100 60 1
& A3 IMP: -10 EW:-2 1NW2 120 20 1 » 5432 IMP: 0 EW:-6 3NE3 400 -6.0 2
N » KQ 3NE3 600 -9.0 1 ||s AQT73 » K2 3NE4 430 7.0 1
v Q93 v QJ v T862
+ + AQJT2 + AK974 + J85
& 752 9 &» AK87
» AT983 % ¢ VAN 4 JO854
v JT2 N ~~~~~ v 94
+ K5 S ~~~~~ + T6
* J96 E ~4~44 & QJT6
W ~4~44




X AN 33z 4 —_—
9 113 EE 2RBpEHRFHLE == RY 9
L} JoAie v LJ
#1: 3 EIF107.97) #2: 6 f85£(98.73) #3: 1 FEK(95.8)
5 NS: Figsl FEIrEEEC) -28 1 NS: E38 RRFR(FH0) 2 | VP:| 4.54 15.46 | Total VP: 64.27 Rank:
EW: EiEHE BE2RZZBEEO) -2 EW: §E{_# MEFR(BAC) 2 IMP:| 8 29 6
#1 o AT954 4HWS5 450 Mean: 3HWS5 200 50 1 |[#2 9 4HN5 -650 Mean: 4HN5 650 10.0 2
v 987 4HW5 450 -400 4HW5 450 20 5 v AQ8763 6HN-2200 220 3NN5 660 10.0 1
¢+ J5 Dif: 0 NS:-2 + AQ32 Dif: -850 NS:-9 6HN-2 200 9.0 3
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N 21~~~ oK N ~5532 vK9
S 21~~~ ¢ KT962 S ~5545 ¢ K85
E ~~5~4 &QJ763 E ~~~~~ * Q2
W ~~5~4 W ~~~~~
#3 » JT7 4HS4 -420 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4SXS-1200 Mean: 4SS5 650 7.0 1
v KT753 4HS5 -450 450  4HS5 450 00 3 v AQT8 4SS-1100 340 4SS4 620 7.0 2
*5 Dif: 30 NS:0 4HN5 450 0.0 1 ¢ Q8732 Dif: 100 NS:-10 5HXE-2 500 4.0 1
& AQ94 IMP: 1 EW:1 4HS4 420 1.0 1 &3 IMP: 3 EW:11 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 ¢ A65 + KJ9
a J765 a 9762 » AKQJ
& AQ5 % ¢ VAN 4 AK98765
v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
#5 & A9432 4HES5 450 Mean: 4HE5 450 00 4 ||#6 s 97 4HW4 620 Mean: 3NE-2 200 120 1
v Q7 4HE6 480 -460 4HE6 480 1.0 2 v T754 4SE4 620 -480 4SE4 620 -40 4
+ 64 Dif: -30 NS:-1 ¢ 93 Dif: 0 NS:-4 4HW4 620 -40 1
» 8654 IMP: -1 EW:0 & KQJ43 IMP: 0 EW:4
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v A863 v KJT4 v Q9862 v AJ
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& AK7 & QJT » A7
*¢VAN ,QT8 FOVAN 483
N ~~~~~ v 952 N ~~~~~ v K3
S ~~~~~ + KQ82 S ~~~~~ + A87
E ~45~3 #932 E ~6 342 & T9865
W ~45~3 W ~5342
#7 » 853 4CN5 -150 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NS4 -180 Mean: 2NN4 180 00 1
v KJ4 4DS6 -170 190  4DS6 170 1.0 2 v AKT7 2NN4 -180 170  1NS4 180 00 3
¢ AJ3 Dif: 20 NS:-1  4DS5 150 1.0 1 ¢ T98 Dif: 0 NS:0 1NN4 180 00 1
& AKQ8 IMP:1 EW:1 4CN5 150 1.0 1 & Q2 IMP: 0 EW:0 1SN3 140 1.0 1
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v AQ73 + v 92 v Q984 v 653
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W ~~~2~ W ~ ~~~~
#9 & KT9832 3NXW-1-200 Mean: 3NXW-1 200 40 1 # 10 s J7 1NN1 -90 Mean: 3HW-4 400 60 1
v AQJ 3NW-1-100 50  2SN3 140 3.0 1 v A9 3HW-1-100 150  3CN3 110 1.0 1
¢ 652 Dif: -100 NS:2 4CE-1 100 20 1 * QJT73 Dif: 10 NS:-2 2CN4 130 1.0 1
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W 3~~~1 W ~~1~~
# 11 # 65 2HS-1 50 Mean: 2NW-1 50 30 1 ||#12 s A72 1NN4 -180 Mean: 1NN4 180 1.0 3
v 975 2NW-1-50 -50  3HS-1 50 0.0 1 v Q7 1NN3 -150 160  1NS3 150 0.0 1
¢ KJT73 Dif: 100 NS:3 2HS-1 50 0.0 2 + KJ642 Dif: -30 NS:0 1NN3 150 0.0 2
& K43 IMP: 3 EW:0 2NW2 120 20 1 & KJ9 IMP: -1 EW:-1
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v AQJ4 T v KT652 | v J98
¢ 92 + AQ864 ¢ 98 ¢ AT5
& JT96 » 875 » 65 » QT742
oo VAN oA743 oo VAN 48543
N ~~~~~ v K8632 N ~2~12 v A43
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#13 4 642 3CW4 130 Mean: 3CW3 110 3.0 1 # 14 46 6DW-2 -100 Mean: 6DW-2 100 60 1
v K865 3DE4 130 -200 3DE4 130 20 1 v AK753 3NE3 400 -150 5DW-2 100 6.0 1
+ 8763 Dif: 0 NS:2 3cw4 130 20 2 + Q32 Dif: -500 NS:-6 4SXW-1 100 60 1
& A3 IMP: 0 EW:-2 1NW2 120 20 1 » 5432 IMP: -11 EW:-6 3NE3 400 -6.0 2
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#1: 3 EIF107.97) #2: 6 f85£(98.73) #3: 1 FEK(95.8)
6 NS: {7 & Z=5%{&EAC) 25 4 NS: %KX RiEHE(BO) 17 VP:| 17.63 : 2.37 | Total VP: 98.73 Rank:
EW: #hER: SIEEEH0) 17 EW: EE{_ BREAE(BAC) -2 IMP:| 43 : 9 2
#1 o AT954 4HWS5 450 Mean: 3HWS5 200 50 1 |[#2 9 6HN-2 200 Mean: 4HN5 650 10.0 2
v 987 4HW5 450 -400 4HW5 450 20 5 v AQ8763 4HN5 -650 220  3NN5 660 10.0 1
¢+ J5 Dif: 0 NS:-2 + AQ32 Dif: 850 NS:10 6HN-2 200 9.0 3
» K98 IMP: 0 EW:2 & A5 IMP: 13 EW:9
» KQ # 8763 s QT & KJ65
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& A & T542 &» KJ973 & T864
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S 21~~~ ¢KT962 S ~5545 ¢ K85
E ~~5~4 &QJ763 E ~~~~~ * Q2
W ~~5~4 W ~~~~~
#3 » JT7 4HS5 -450 Mean: 4HS6 480 1.0 1 ||#4 » Q32 4S5S4 -620 Mean: 4SS5 650 7.0 1
v KT753 4HS6 -480 450  4HS5 450 00 3 v AQT8 4SS4 -620 340  4SS4 620 7.0 2
*5 Dif: 30 NS:1  4HN5 450 0.0 1 ¢ Q8732 Dif: 0 NS:7 5HXE-2 500 4.0 1
& AQ94 IMP: 1 EW:0 4HS4 420 1.0 1 &3 IMP: 0 EW:-7 4SS-1 100 100 1
» K642 a T4 aJ 4SXS-1 200 -11.0 1
v Q2 v K932 s + v J7654
+ A86 + A65 + KJ9
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v AJ94 N ~2~4~w
* KJ2 S ~2~4~ T4
& T82 E 2~3~~ &T854
W 2 ~3~~
#5 & A9432 4HES5 450 Mean: 4HE5 450 00 4 ||#6 s 97 4SE4 620 Mean: 3NE-2 200 120 1
v Q7 4HE6 480 -460 4HE6 480 1.0 2 v T754 3NE-2-200 -480 4SE4 620 -40 4
+ 64 Dif: -30 NS:-1 ¢ 93 Dif: 820 NS:12 4HW4 620 -40 1
» 8654 IMP: -1 EW:0 & KQJ43 IMP: 13 EW:4
s K # J765 AK » QT6542
v A863 v KJT4 v Q9862 v AJ
+ AJ953 *T7 * KJT42 + Q65
& AK7 & QJT » A7
*¢VAN ,QT8 FOVAN 483
N ~~~~~ v 952 N ~~~~~ v K3
S ~~~~~ + KQ82 S ~~~~~ + A87
E ~45~3 %932 E ~6342 &T9865
W ~45~3 W ~5342
#7 » 853 4HS-1100 Mean: 5DS5 600 9.0 1 ||#38 » QJ9%4 1NN4 -180 Mean: 2NN4 180 00 1
v KJ4 4DS5-150 190  4DS6 170 1.0 2 v AKT7 1SN3 -140 170  1NS4 180 00 3
¢ AJ3 Dif: 250 NS:-1 4DS5 150 1.0 1 ¢ T98 Dif: -40 NS:-1  1NN4 180 00 1
& AKQ8 IMP: 6 EW:7 4CN5 150 1.0 1 & Q2 IMP: -1 EW:0 1SN3 140 1.0 1
a J72 & AKQT964 4HS-1 100 -7.0 1 & 52 » K873
v AQ73 + v 92 v Q984 v 653
¢ 842 *Q ¢ A542 ¢+ Q3
& JT4 S » 965 » 763 & AKT4
*OVAN , ¢VAN 4, AT6
N 66 4 ~~ »T865 N ~3~33 »J2
S 664 ~~ ¢ KT9765 S ~3~34 ¢ KJ76
E ~~~2~ 8732 E ~~~~~ & J985
W ~~~2~ W ~ ~~~~
#9 & KT9832 4CE-1-100 Mean: 3NXW-1 200 40 1 # 10 s J7 3CN3 -110 Mean: 3HW-4 400 60 1
v AQJ 3CE3110 50  2SN3 140 3.0 1 v A9 2HW-1-100 150  3CN3 110 1.0 1
¢ 652 Dif: -210 NS:-4 4CE-1 100 20 1 * QJT73 Dif: -10 NS:-2 2CN4 130 1.0 1
»4 IMP: -5 EW:-2 3NW-1 100 20 1 & AQT5 IMP: 0 EW:1  3HW-1 100 20 1
s QJ5 74 3CE3 110 -40 2 Q3 #» A654 2HW-1 100 2.0 1
v 9754 v KT v JT875 _I_ v K62 1NN1 90 20 1
¢ T4 * AJ9 + A98 + K654
& QJ62 & AKT953 » KJ8 » 74
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# 11 # 65 3HS-150 Mean: 2NW-1 50 30 1 ||#12 s A72 1NS3 -150 Mean: 1NN4 180 1.0 3
v 975 2NW2 120 -50  3HS-1 50 0.0 1 v Q7 1NN3 -150 160  1NS3 150 0.0 1
¢ KJT73 Dif: -70 NS:-2 2HS-1 50 0.0 2 + KJ642 Dif: 0 NS:0 1NN3 150 0.0 2
& K43 IMP: -2 EW:0 2NW2 120 20 1 & KJ9 IMP: 0 EW:0
& JT9 » KQ82 2HXS-1 100 -20 1 & KJ96 » QT
v AQJ4 T v KT652 | v J98
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#13 4 642 3NE3 600 Mean: 3CW3 110 3.0 1 # 14 46 4SXW-1 -100 Mean: 6DW-2 100 60 1
v K865 3CW4 130 -200 3DE4 130 20 1 v AK753 5DW-2 -100 -150 5DW-2 100 6.0 1
+ 8763 Dif: 470 NS:2 3Cw4 130 20 2 + Q32 Dif: 0 NS:6 4SXW-1 100 60 1
& A3 IMP: 10 EW:9 1NW2 120 20 1 » 5432 IMP: 0 EW:-6 3NE3 400 -6.0 2
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